102 10t 10° 10 102 10% 10* 10° 10° 107

o vs. E for 105Pd(n,e|.)
|
I

10
8
6
4
2
0

‘(A8) ABJaua ale so|eds essIosqy

"suleq pue UoneIAsp prepuels
aAIle[al 04 2B S3|eds areulpIO

00
20
¥°0-
9'0-
8'0-
0'1-

00
A0
14Y
90
80
0T

XUJe\ uonealiod

Ll

o._” Oﬁ mo._u o._” Oﬁ o._” o._” OH H.o._” 20T

0

S

— 0T

el

0¢

(18'u)Pd,,; 10} I 'SA O/OV




00 00

20 z0
'0- '0
9'0- 9'0
8'0- 8'0
0'1- 01

XUJe\ uonealiod

| | |
~
— — O
i <
—~ B
o i
£
= ©
dl IO
- - —
o n
K9}
L i B
— - »
ra— B
(@]
S— N
LLl
Q.w- B
>
o 9
| | | —
— o 53 o S0
o o o o o
— —i — — —

‘(A8) ABJaua ale so|eds essIosqy

"suleq pue UoneIAsp prepuels
aAIle[al 04 2B S3|eds areulpIO

— ;0T

Z01

(‘1aur'u)pd,,; 104 3 'SA 0/0V




~N
c
N I70
c -
N
O L
o
Lo
o] d L
i
|-
0 - L
[P
L
Q.w E L
>
©
| | |
— o T o D
o o o o o
i i i i i

‘(A8) ABJaua ale so|eds essIosqy

"suleq pue UoneIAsp prepuels
aAIle[al 04 2B S3|eds areulpIO

00
20
¥°0-
9'0-
8'0-
0'1-

00
A0
14Y
90
80
0T

XUJe\ uonealiod

,01
T . . 0
— 0T
— 0¢
— 0€
— Ov
—— 0S
(ug‘u)pd,,, 104 3 'SA O/OV




00 00

20 z0
'0- '0
9'0- 9'0
8'0- 8'0
0'1- 01

XUJe\ uonealiod

N~
o
i
(]
o
i
Lo
- o)
—
<
- o)
i
™
> =
£ w
S - [
Dl —
Lo —
S =
=2 5
> .
0 - — O
> —
© 5
1 T T 1 =
o~ o 5 5
O o) o o 0T 0T 0T 0T 0T 0T 0T 0T 0T , 0T
= = = = N R T L L -
._”l
‘(A8) ABJaua ale so|eds essIosqy ]
- 0T
‘'suJeq pue uoneIAsp piepuels
dAIR|al 04 BJe S8[eds d1eulpiO
T T T T T T T T 1 201

A'u)pdg,; 104 3 "SA 0/0V




